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2������������������������������
 �1������� repset -Q ���Windows����cmd��<i2node����>/bin��� repset.exe -Q�
 �2�����������0%�����������A MB(DISK:   0%   ZERO,  used=A MB)
 �3�����������0%����������������T.
 �4�������������,������B MB=A MB × T
   (5)   ����������������������”��“���������B M
   (6)    ��i2node����������
         
          Linux����node���
       
          ��systemctl restart i2node �� service i2node restart
         
          Windows��node���
         
        
���node����������1�������������2�������������������������3������������.����������


